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Ed pall % 5l = E % 34 = o 3
F O b B 1 B 1 R
26 £ |25 & T ” 26 |25 % T % 26 |25 £ o 498
B X L # # 14555 16,566] -2,011 -12.1 3,453 4,346 -893 -20.5 23.7 26.2 -2.5
= A A 2,075 2,401 -326 -13.6 1,135 847 288 34.0 54.7 35.3 19.4
L =3 -] 915 1,017 -102 -10.0 438 354 84 23.7 47.9 34.8 13.1
E A H 238 297 -59 -19.9 100 157 -57 -36.3 420 52.9 -10.9
B P =3 61 46 15 32.6 44 6 38 633.3 72.1 13.0 59.1
AT MB Y
£ E B Y 58 49 9 18.4 12 9 3 33.3 20.7 18.4 2.3
w fE wm L 12 8 4 50.0 2 2 16.7 25.0 -8.3
B o E R L 9 5 4 80.0 3 2 1 50.0 33.3 40.0 -6.7
¥ &K B L 25 30 -5 -16.7 8 15 -7 -46.7 32.0 50.0 -18.0
m Bt W L 11 17 -6 -35.3 7 6 1 16.7 63.6 35.3 28.3
ol P | OL 3 9 -6 -66.7 1 1 33.3 11.1 22.2
£ B A Rw L 167 299 -132 -44 1 124 122 2 1.6 74.3 40.8 33.5
HOE O FROL 252 223 29 13.0 216 69 147 213.0 85.7 30.9 54.8
I % ¥ L 35 54 -19 -35.2 4 5 -1 -20.0 11.4 9.3 2.1
B K it L 27 15 12 80.0 57 1 56 5,600.0 211.1 6.7 204.4
E E ®m L 147 126 21 16.7 42 43 -1 -2.3 28.6 34.1 -5.5
z 0] fth 115 206 -91 -44.2 77 55 22 40.0 67.0 26.7 40.3
®E YU B &K 3,805 4,724 -919 -19.5 339 599 -260 -43.4 8.9 12.7 -3.8
B 8 #H XK 285 316 -31 -9.8 145 411 -266 -64.7 50.9 130.1 -79.2
F—H Y 60 80 -20 -25.0 39 81 -42 -51.9 65.0 101.3 -36.3
F—H L 225 236 -11 -4.7 106 330 -224 -67.9 471 139.8 -92.7
r— kN A E 414 610 -196 -32.1 45 36 9 25.0 10.9 5.9 5.0
F—H Y 112 118 -6 -5.1 14 9 5 55.6 12.5 7.6 4.9
F—H L 302 492 -190 -38.6 31 27 4 14.8 10.3 5.5 4.8
B & #H XK 3,106 3,798 -692 -18.2 149 152 -3 -2.0 48 4.0 0.8
& H Y 1,009 1,235 -226 -18.3 43 43 43 35 0.8
M8 A L 2,097 2,563 -466 -18.2 106 109 -3 -2.8 5.1 4.3 0.8
E B A & 8,675 9,441 -766 -8.1 1,979 2,900 -921 -31.8 22.8 30.7 -7.9
g ¥ o 26 12 14 116.7 2 4 -2 -50.0 7.7 33.3 -25.6
$h H & 3 30 -27 -90.0 3 37 -34 -91.9 100.0 123.3 -23.3
ATMA B W 1 -1 -100.0 1 -1 -100.0 100.0 -
EE R 5 L 1 3 -2 -66.7 2 2 - 200.0 200.0
& E L b W 11 27 -16 -59.3 2 2 18.2 7.4 10.8
v o =< Y 25 32 -7 -21.9 10 7 3 42.9 40.0 21.9 18.1
Cl L 42 40 2 5.0 8 5 3 60.0 19.0 12.5 6.5
B 5 = 994 1,024 -30 -2.9 160 148 12 8.1 16.1 14.5 1.6
fx BE & 42 5 L 29 32 -3 -9.4 1 3 -2 -66.7 34 9.4 -6.0
H kL A 5 W 1,850 2,095 -245 -11.7 264 480 -216 -45.0 14.3 22.9 -8.6
& H Y 1,006 1,155 -149 -12.9 153 365 -212 -58.1 15.2 31.6 -16.4
M8 & L 844 940 -96 -10.2 111 115 -4 -35 13.2 12.2 1.0
B &t 5 W 650 1,056 -406 -38.4 67 530 -463 -87.4 10.3 50.2 -39.9
fi &K 35 4 5 LY 52 74 -22 -29.7 2 3 -1 -33.3 3.8 4.1 -0.3
B R #4n 5 W 126 146 -20 -13.7 10 26 -16 -61.5 7.9 17.8 -9.9
B 1EF Rk 5 W 282 283 -1 -0.4 43 57 -14 -24.6 15.2 20.1 -4.9
IEHFHRL LWL 149 137 12 8.8 14 24 -10 -41.7 9.4 175 -8.1
y;] 5 = 1,647 1,832 -185 -10.1 941 1,152 -211 -18.3 57.1 62.9 -5.8
B 5k 5 W 148 153 -5 -3.3 42 29 13 448 28.4 19.0 9.4
BB 2 5 W 8 20 -12 -60.0 4 3 1 33.3 50.0 15.0 35.0
z ) fth 2,632 2,444 188 7.7 404 389 15 3.9 15.3 15.9 -0.6
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m A =] % N o 3
F A b B 1 i 1 B
26 % ZSEAE o 26 % ZSEAE ” 26 % ZSEAE %
A 1,584 1,808 -224 -12.4 1,261 1,371 -110 -8.0 323 437 -114 -26.1
= A & 126 107 19 17.8 110 85 25 29.4 16 22 -6 -27.3
L =3 -] 35 27 8 29.6 33 26 7 26.9 2 1 1 100.0
E A H 6 6 6 6
=5 P =3 4 2 2 100.0 4 2 2 100.0
AT MB Y
® E B Y 8 8 - 8 8 -
w fE wm L 1 2 -1 -50.0 1 2 -1 -50.0
B o E R L
¥ &K B L 3 6 -3 -50.0 3 6 -3 -50.0
m Bt W L 2 -2 -100.0 2 -2 -100.0
¥ om AT WL
£ B A Rw L 9 14 -5 -35.7 9 11 -2 -18.2 3 -3| -100.0
HOE F|OL 25 17 8 471 23 9 14 155.6 2 8 -6 -75.0
I % ¥ L 2 -2 -100.0 2 -2 -100.0
B K it L 3 3 - 3 3 -
E E ®m L 16 20 -4 -20.0 12 18 -6 -33.3 4 2 2 100.0
z 0] fth 16 9 7 77.8 11 7 4 57.1 5 2 3 150.0
®E YU B &K 179 158 21 13.3 55 52 3 5.8 124 106 18 17.0
B 8 #H XK 24 28 -4 -14.3 21 21 3 7 -4 -57.1
F—5%H VY 14 22 -8 -36.4 11 15 -4 -26.7 3 7 -4 -57.1
F—H L 10 6 4 66.7 10 6 4 66.7
F— b AF 51 21 30 142.9 5 2 3 150.0 46 19 27 1421
F—5%H VY 18 5 13 260.0 3 1 2 200.0 15 4 11 275.0
F—H L 33 16 17 106.3 2 1 1 100.0 31 15 16 106.7
B & #H XK 104 109 -5 -4.6 29 29 75 80 -5 -6.3
& H Y 20 33 -13 -39.4 6 7 -1 -14.3 14 26 -12 -46.2
M8 A L 84 76 8 10.5 23 22 1 45 61 54 7 13.0
E B A & 1,279 1,543 -264 -17.1 1,096 1,234 -138 -11.2 183 309 -126 -40.8
g ¥ o 2 2 2 2
$h H & 4 -4 -100.0 4 -4 -100.0
ATM#u 5 L
B E L 5 W 2 2 - 2 2 -
B E R 5 W 1 1 - 1 1 -
v o =< Y 4 8 -4 -50.0 1 7 -6 -85.7 3 1 2 200.0
El Y 3 7 -4 -57.1 3 3 - 7 -7 -100.0
B 5 = 119 113 6 5.3 112 101 11 10.9 7 12 -5 -41.7
= BEH 5 L) 1 1 1 1 - 1 -1 -100.0
H kL A 5 W 19 27 -8 -29.6 17 22 -5 -22.7 2 5 -3 -60.0
& H Y 5 7 -2 -28.6 5 5 2 -2 -100.0
M8 & L 14 20 -6 -30.0 12 17 -5 -29.4 2 3 -1 -33.3
B &t 5 W 7 7 2 3 -1 -33.3 5 4 1 25.0
fi &K 35 4 5 LY 1 -1 -100.0 1 -1 -100.0
B R #4n 5 W 8 -8 -100.0 6 -6| -100.0 2 -2 -100.0
B 1EF Rk 5 W 13 16 -3 -18.8 10 14 -4 -28.6 3 2 1 50.0
IEHFHRL LWL 1 9 -8 -88.9 1 8 -7 -87.5 1 -1 -100.0
y;] 5 = 886 1,122 -236 -21.0 739 862 -123 -14.3 147 260 -113 -435
B 5k 5 W 21 17 4 23.5 20 14 6 42.9 1 3 -2 -66.7
BB 2 5 W 3 3 3 3
z ) fth 197 198 —1 -0.5 182 187 -5 -2.7 15 11 4 36.4




